Board of Education

Town of Windsor Locks

Special Meeting - Agenda

5/17/23 - 4:00 p.m.

Windsor Locks High School Library Media Center

Zoom Option - Click Here

DISTRICT 2022-2025 (3) THREE YEAR VISION

All students will meet or exceed grade level standards because we want all students to feel a sense of accomplishment to pursue their passion.

- I. Call to Order
 - A. Roll Call
 - B. Pledge of Allegiance
- II. School Safety and Security: Vote Needed

p. 2 Exhibit II

- III. Executive Session: To adjourn the meeting to Executive Session as permitted by Connecticut General Statutes Section 1-225(a) for the following purposes as allowed by Section 1-200(6), that is:
 - A. Discussion of Compensation for the Following:
 - 1. Director of Human Resources
 - 2. Business Manager
 - 3. Director of Facilities
 - 4. Network Systems Manager
 - 5. Staff Accountant and Grant Manager
 - 6. Executive Assistant to the Superintendent

That in attendance in the Executive Session shall be limited to:

- 1. Members of the Board of Education
- 2. Superintendent of Schools
- 3. Director of Human Resources
- B. Discussion of Superintendent Evaluation and Contract

That in attendance in the Executive Session shall be limited to:

- 1. Members of the Board of Education
- 2. Others as Requested to Attend
- IV. Adjourn to Public Session
- V. Action, if any, on Executive Session Items: Vote Possible
- VI. Adjourn Meeting

For the Chairperson of the Board of Education

Shawn L. Parkhurst - Superintendent of Schools

Copy: Town Clerk - Please Post

Exhibit II

WLPD SRO

District Safety Committee Comments

- Armed
- Law Enforcement Officer
- Consistency (Same Officer every day at each school)
- MOU with WLPD to ensure BOE control
- Real protection
- Building relationships with students & families in the WL Community
- First Responders in the building
- Have completed psychological background evaluation
- Committee Consensus: Keep one S.R.O. within the district (9 votes); add three additional S.R.O.'s (7 votes)
- Town's Emergency Management Director feels strongly that there needs to be a S.R.O. across all district schools

FINANCIALS Current Staff 1.0 FTE HS SRO 50% Salary & Benefits = \$61,720

<u>\$110,637 = (50% of salaries) - part of BOE budget</u> <u>\$110,637 = (50% of salaries) - given by BOF</u> <u>Total Cost to BOE for 2.5 additional SROs = \$221,274</u>

1.0 FTE MS SRO

100% Salary

FY24 Salary (100%) = \$86,510; (50% from PD budget to BOE budget = **\$43,255**)

1.0 FTE SES SRO

100% Salary

FY24 Salary (100%) = \$86,510; (50% from PD budget to BOE budget = \$43,255)

.5 FTE NS SRO (starting in January - 6 mths of FY24)

100% Salary EV24 Salary (100%) =

FY24 Salary (100%) = \$86,510; (50% from PD budget to BOE budget = \$43,255/2=**\$21,628**)

SECURITY GUARDS

District Safety Committee Comments

- Not law enforcement
- Inconsistent personnel
- No control over staff
- In emergency situations, they will call WLPD
- Committee wants WLPD oversight but WLPD will not oversee outside agencies or guards

UNARMED SECURITY

<u>Stallings Security</u> \$35/hr x 7 hrs/day x 4 guards = \$980 x 181 days = **\$177,380**

<u>CT Metro Protection Services</u> \$29/hr x 7 hrs/day x 4 guards = \$812/day x 181 days = **\$146,972**

ARMED SECURITY

<u>CT Metro Protection Services</u> 36/hr x 7 hrs/day x 4 guards = \$1,008/day x 181 days = **\$182,448**

<u>Allied Universal Services</u> 36/hr x 7 hrs/day x 4 guards = \$1,008/day x 181 days = **\$182,448**

Windsor Locks Public Schools

www.wlps.org

Educational Leadership

Shawn Parkhurst Superintendent of Schools 860-292-5000

> **Giovanna Testani, Principal** North Street School 860-292-5027

Monica Briggs, Principal South Elementary School 860-292-5021

David Prinstein, Principal, Christine Domler, Assistant Principal Windsor Locks Middle School 860-292-5012

Rebecca Bissonnette, Principal, Matt Warner, Assistant Principal Windsor Locks High School 860-292-5032

Brian Deming, President Windsor Locks Teachers' Association 860-292-5012

Central Office

Kristen Krupa Director of Secondary English Curriculum, Instruction, and Assessment

Megan Parrette Director of Secondary Math Curriculum, Instruction, and Assessment

> Sheri Lee Director of Human Resources 860-292-5744

Joshua Robinson Director of Pupil Services 860-292-5707

Jason Scavotto Coordinator of Alternative Programs

Alison Pierce Business Manager 860-292-5709